Vypočtěte: 
a) ( 2 ) + ( – 1 ) =
 b) ( + 4 ) + ( –25 ) =
 c) ( –127 ) + ( + 59 ) = 
d) ( +198 ) + ( –45 ) = 
e) ( – 257 ) + 412 =
 f) 287 + ( + 547 ) =
 g) – 123 + 195 =
 h) + 12 – 55 =

Vypočtěte : 
a) ( + 4 ) + ( + 5 ) = 
b) ( –2 ) + ( –1 ) = 
c) ( –6 ) + ( +3 ) =
 d) ( +4 ) + ( –5 ) = 
e) ( –4 ) + ( – 1 ) = 
f) ( 7 ) + ( –4 ) = 
g) ( 8 ) + ( –21 ) =

Vypočtěte : 
a) ( + 4 ) – ( + 5 ) = 
b) ( –2 ) – ( –1 ) = 
c) ( –6 ) – ( +3 ) = 
d) ( +4 ) – ( –5 ) = 
e) ( –4 ) – ( – 1 ) = 


f) ( 7 ) – ( –4 ) = 
g) ( –8 ) – ( –21 )= 
h) ( –5 ) – ( +5) = 
i) ( –74 ) – ( – 215 ) =
